CLASS X Maths continuation ......

CHAPTER 5 ( QUADRATIC EQUATIONS IN ONE VARIABLE)

=>v3x2 + 7x + 3x + 7V/3 = 0 by breaking the middle term
=>x(V3x+7) +V3(v3x+7) =0
=>(V3x+7)(x++v3) =0

7

7 —\/3 are the roots.

>x =

S+ Dx+2)+(x—2)(x—1)=3(x—-1)(x+2) bysimplification
=>x2+3x+2+x>—-3x+2=3x2+3x—-6

=>x2+3x—10=0

=2>x+5x-2)=0

=>x = —5, 2 are the roots.

=3x + 4 = x* bysquaring

=>x2-3x—-4=0
> —-4)x+1)=0
>x=4,—-1
Clearly x = 4 satisfies the equation but x = —1 does not satisfies the equation.

= x = 4 is the only root of the given equation.



